< 00y > (Um)

< opJp, > (%)

Ratio

< & ¢@>(rad)
o
=
[¢)]
IIIIIIIIII

........

........

.....

.....

.........................

........................

|
w

-1

0 1 2 3
TP n (PCA to beamline)

< dcot(B) >

........

........

...........................

..........................

- -

S

1 2 3
TP n (PCA to beamline)

T

it

majvector—1000evt

evt

[y
A OO ®© O
OO O

(@)
TIT T T T[T T[TI PP [T [ T[T [ TTr Tt

20

é‘rna‘_ 8 eV
dé4§g§: %ﬁé%‘ﬁ—ﬁ%ﬂle&bmw 1000

..............

.............

..............

[N
o

|
w

-1

0 1 2 3
TP n (PCA to beamline)

L

-1

o 1 2 3
TP n (PCA to beamline)

< 8d,> (um)

10

19 N w

lt

o0 LA LA L L LR
'
=i

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


